EMEMRTOREERAMCOMH -BEERNOHHE - BBE] (FH4ERE)

BEEE224 NN-CAFILETFUILTIU=N-FAFIF

(E+nlk x 10", I ZIXE+31E X 1000DEKRTT . )

HEH = (keg/5F) BE=Ekke/F)
#BE TEA~O HH=-
R | #EFESL | KEA~ | KEA L - HHE TIKEN | BEY BEE wEE
a—k DHEH | OHEH | " =1} DHEHE | kb &Et =
T8I

1 |deiEE

2 | BEHRR

3 | 5FER 1.0E-1 0.1 0.1
4 |EHRE 4 3E+1 43.0 43.0
5 |MHE

6 [ILUZE

7 |EEBR

8 |ZWE 6.1E+0 6.1 3.7E+1| 3.7E+3 3,691.3 36974
9 |#HHKE 1.4E+2 140.0 140.0
10 [HEE 22E+3| 3.1E+4 33,340.0 33.340.0
11 |BEE 2.6E+1| 9.0E+2 926.0 926.0
12 |FEER 6.4E+0 6.4 6.4E+0| 2.2E+2 225.0 2314
13 |REE 4.0E-1 0.4 0.4
14 |[#FIE 2. 9E+0| 8.8E+2 882.7 8827
15 |#FiRE

16 |[EWLE

17 |RBINE 1.2E+1 12.0 12.0
18 |[fEHE

19 |ILBE

20 |REHR

21 |[IFRIE

22 |EER 6.1E+2 610.6 3.6E+2 358.2 968.8
23 |BHIE 1.0E-1 0.1 1.2E+2 120.0 120.1
24 |[ZEE 2.6E+2 260.0 260.0
25 |HER 1.8E+0| 2.2E+1 23.8 238
26 |FREBAT

27 | KBRFF 6.3E+1| 4.1E+2 472.2 4722
28 |EER 2.0E+0 2.0 11E+1]| 1.1E+2 117.1 119.1
29 |&ZRER

30 [fOFRILE 6.6E+0 6.6 6.6
31 |EmE

32 |BiRE

33 |MEWE

34 |[LER

35 |[WAOR

36 |EER

37 _|FBINER

38 |EBER 2.4E+1 24.0 3.7E+0 3.7 27.7
39 |=BHER

40 [fEME 1.3E+1| 9.0E+1 103.0 103.0
41 |#EER

42 |RBE

43 |RERIE

44 | KHE

45 |=igE 2.0E+1 20.0 20.0
16 |EREE

47 [;hiBe

& [F 2.4E+1] 6.6E+2 681.2 24E+3| 3.8E+4 40,713.1 41,3943

T BEIEAANEREL LTARICERL TS,

EE - IO7IRAMN RS/ BERRERVAT LB EBER




